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~ HIGHLY ERODIELE LAND CLASSES - HIGHLY ERUDIELE AND
1 = HIGHLY ERODIBLE L.AND FOTENTIALLY HIGHLY ERDDIGLE
£ = POTENTIALLY HIGHLY ERODIELE LAND CACULATOR VER 1.1
2 o= NOT HIGHLY ERODIELE | WIND EROSIION WATER ERCSION
MAF C I HEL R k. T SLOFE~ FERCEN SLOFE-~-LENGTH L8~ VALUE
MUID SYMEOL SOIL. NAME % VALUE VALUE CLABS VALUE VALUE VALUE MIN. MAX. MIN. MAX . MIN. MAX.

FHRERENE HRHXEE KXXEERRRERERERRARR H HER XRNNNR HREEXE HXRNH HRWRRE HXEN® HRHERWRE RRRENN HXNRR RENHR

"1 ARE AL ALERIGHTS 1 100 b 3 ] = 400 O, =
DELABC ARC ALERIGHTS 1 100 3 = 15 400 O i
OZ1AME AME ARMAGH 1 100 ] 8] o 400 © &
QZ1AT AT ATEINS 1 100 4 Iv] 3 400 0 3
OZ1BEER BER BERES 1 100 k] 3 ] 400 O &
QZ1REC EEC BERKS 1 100 8 k] @ 15 100 400 O =
QZ1BED BED EERES 1 100 ¢ = I 15 28 100 400 2 1
QE1EME EME ELAIRTN 1 100 = 3 ] o 100 400 Q Z
QZ1EMC EMC BELAIRTON 1 100 = 2 = 15 100 400 O 1
OZ1EBNE ENE ELAIRTON 1 100 ] 2 3 = 100 400 O e
0Z1BFC BFC ELAIRTON 1 &0 = 2 = 15 100 400 O 1
. 1RBFC EFC BERKES = R0 k] 2 = 15 100 400 0,991 =
’ Z1BTE BTE ERINEERTON 1 100 0.8 = Q b 100 400 0,067 QL A00 b
OZLEVE BVE ERINKERTON 1 100 o 2 4] = 100 400 0,087 1982 0. 800 Z
OZ1CAA CAA CAVODE 1 100 ] 2 Q ] 100 400 0.06% Q.4358 0,519 e
QZL1CALL CAE CAVODE 1 100 = Q0.3 ] A = 100 400 1.992 0519 e
QZ1CAC CAC CAVODE 1 100 ] 0.2 3 2 15 100 400 221 1
QZICER CEER CAVIDE 1 100 = 0,28 3 Q = 100 400 Q0869 =
OZ1CEA CEA COOEFPORT 1 &% ] Q.24 k<] 0 ] 100 400 0, 04% QL2300 =
OZ1CEA CEA ERNEST = o 0,43 2 Q 3 100 400 0,069 Q.447 e
OZ1CER CER COQkEFORT 1 ] 0,2 ! 3 = 100 400 0,287 0,200 Z
QZ1CEER CEL ERNEST bt ] .43 ] b 2 100 400 0,227 0.447 P
OZ1CEC CEC CODEFIRT 1 Q.3 Q.24 e = 15 100 400 0,921 QL2300 1
OZ1CEC CEC ERNEST Z 0.2 0.42 3 = 16 100 400 0. 7wl O.447 1
0OZ1CED CED COCKFORT 1 0.2 ouN#A e 15 ) 100 400 .85 1
OZ1CED CED ERNEST E 0.8 0.43 3 1% 5 100 400 Z.5 0,447 1
OZ1CVE CVE COOkFORT 1 0.3 0.24 3 Q k=] 100 400 0 0L=00 Z
0Z1CVD VD COQRFORT 1 Q.5 0,24 i = 25 100 400 4 1
021CVD VD ERNEST & 0.2 0.3 3 b= =8 100 400 11,720 1

QZ1DF DF DUMPS 1 Q. 100 400ERROR ERROR

0z1DU DU DUMFS 1 Q.= 4O0ERRIR ERROR
OZ1GNE GNE GILFIN 1 0.8 0.3 =2 = = 400 O.EBT 1.% =
OZ1GPR GFE GILFIN 1 0.2 Q.24 3 2 By 400 =
QOZ1GFD GFD GILFIN i Q.8 0,24 = o 28 400 i
VZIGTC GTC GILFIN 1 Q.2 0,322 ] o 15 400 1
B OZ1GTC GTC RAYNE z Q.= 0.2 = a 15 400 1
- 0Z1GTD GTD GILFIN 1 0.2 0,32 ] 15 25 400 11.720 i
QZ1GTD GTD RAYNE Z 0.8 0,28 = 15 ] 400 11,720 1
QOZ1GUE GWE GILFIN 1 0.8 Q.24 3 e & 400 O 0.200 <
021 GWE GWE WEIKERT 2 0.5 0,28 = = 2 400 O Q. 487 =
QZ1GWC GlC GILFIN 1 B0 0.2 0.4 ] k] 16 400 O 1
Q1 GRC GHC WETKEERT s 20 0. Q.25 z o 15 400 O 1
QOZ1GWD GWD GILFIN 1 a0 [elg= Q.od e 15 =8 400 Z 1
OZ1GWD GWD WETKERT 30 Q.2 Pt = 15 3 400 Z.85% 11,7 i
OZ1GWF GWF GILFIN i ] ] 2 70 400 B.290  Sa,TE i
Q&1 GWF GWF WEIKERT Z 0.8 =] = ] TO 400 5,8290 Bs&, 3,
OZ1HAE HAER HAZILLETON 1 (a3 17 b = b=t 400 O F
) 0OZ1HAC HAC HAZLETON 1 0. 17 3 = 15 400 &
4 OZ1HAD HAD HAZLETON 1 Q.5 17 A 15 =5 400 1
QZ1IHER HER HAZLETON i [ 5 e ] =] 400 Py
QZ1HED HED HAZLETON 1 0.2 15 ] b 5 400 F
QZ1HX H> HAZLETON 1 0.8 15 b O £1i] 400 =
QZ1LAE LAE LAIDIG 1 0.2 0,28 4 ] = 400 &
OZ1LAC LAC LAIDIG 1 = Q.28 4 e 15 400 1




LAIDIG 0.2 4 ] 100 Flu 1

LECE ETILL ] e 100 0. =

LEC TL = k] =] 100 3 0. ADO 1

LLE CTLL. & £ 15 100 0. 1

LEETIONTA 0.2 = = ] 100 e

NI Q.5 ] (8] R 10 &

5 ) ] 100 b

[0 (@] e} 100 =

RAR RAYNE o e = 100 =
RAC RAYNE 100 = = 15 100 1
1RAD RAYNE 100 k] 15 25 100 400 11.720 1
1UDC UDDORTHENTS 100 5 (o] 15 100 400 B.ltlw Z
OZ1UDF UDORTHENTS 5] 15 35 100 400 i
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OZ1WGED WG WHARTI2N 0.2 15 5 100 400 Z.865Y 11,73
QZ1WGD WGED GILFIN 20 0.3 15 P} 100 400 £ BET 11.720




